k4

-4

=
\ﬂg/

VR 2 241 0H 8 H

&
=t 4 =v 7 (AAREBHELNSHT)
RE£H 4 Dt e Bk Ot
(2—R%ES 3201 HGE - KiE&H )
ARAFTEHE KIKT P RXEIT3TH3%L 0%
VA5 k=R MR B
(TEL.06—-6205—6635)

H R BAF ISR 2 FHHOREIZH T 2 M b H

(SAEIER 1 6 5 K% 2 HOKEIZ L 2 EHKOEDIZHES < H ERADHG)

Wi, ERk2 241 0 H 8 HEMEDEGRIZRRICHE W T, 2FHEH 1 6 55:5 3HOM
FICL VAR CHEASNDEEFE 15 6 F0HEICHKSx, HOMKEG IR dHE
WCOWTIRFELELZOT, BaoHWizLET,

AL

1. HEHMKOEE 21T 5 Bh
B TEB OIS LT, R R 2 B T T 5720 H ek X2 S35
HLDOTHY £,

2. BBONE
(1) BT oKX ofE gk
(2) BT 20k 500k (EBRETD)
CRITIHEHR RS (A OB ZBR<) ITRT 285G 0.6%)
(3) XoBSEEEORE  4E3THH (ERET2)
(4) Bt 1% 3 2 M B Fk22F10H12H~FR22411H19H

(%) k2 241 0 A 5 BRSO H Mo RA
FBATHEKR RS (B O EFRL<) 79,509,820k
A R 8,969, 038%k

1 =



